TONICITY COMPARISON
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	HYPOtonic
	ISOtonic
	HYPERtonic


	More water will enter than leave
	Water entering = water leaving
	More water will leave than enter


	Animal cell will swell and burst
	Animal cell will stay same size
	Animal cell will shrink


	Cytolysis will occur (animal)

	
	Crenation (animal)
Plasmolysis (plant)


	Turgor/osmotic pressure will increase

	
	Turgor/osmotic pressure will decrease


	Water potential (Ψ)

in cell is LOW compared to outside
	
	Water potential (Ψ) in cell is HIGH compared to outside

	Plant will be TURGID
	Plant will be FLACCID
	Plant will be FLACCID




HYPERTONIC
HYPOTONIC
ISOTONIC
MORE WATER WILL ENTER THAN LEAVE 
MORE WATER WILL LEAVE THAN ENTER
WATER ENTERING AND LEAVING IS EQUAL

ANIMAL CELL WILL STAY SAME SIZE

ANIMAL CELL WILL SWELL AND BURST
ANIMAL CELL WILL SHRINK IN SIZE

CRENATION WILL OCCUR
PLASMOLYSIS WILL OCCUR
CYTOLYSIS WILL OCCUR
TURGOR/OSMOTIC PRESSURE WILL INCREASE
TURGOR/OSMOTIC PRESSURE WILL DECREASE
WATER POTENTIAL (ψ) IN CELL IS HIGH
WATER POTENTIAL (ψ) IN CELL IS LOW

PLANT WILL BE FLACCID
PLANT WILL BE TURGID

